
11.50 292.1 96.0 2438

A

1

2

4

5
5

5

4

DETAIL A
SCALE 1 : 6

3

1

2

24 619

50.00
15.00

1270.0
381.0

ASSEMBLY BILL OF MATERIAL

SHIPPING BILL OF MATERIAL

1.  GENERAL
     1.1  ALL METRIC DIMENSIONS ARE IN BRACKETS [X.X]
     1.2  MARK PART WITH IDENTIFICATION NUMBER
     1.3  FOR PATENT INFO:  https://www.cs-pat.com
2.  DESIGN NOTES
     2.1  ANY HAZARDS OR OBSTRUCTIONS TO THE CLIMBING FACILITY AND SAFETY  CLIMB MUST BE IDENTIFIED 
            PRIOR TO INSTALLING THE APPURETENANCE.  ADDITIONAL PRODUCTS MAYBE REQUIRED TO MAINTAIN 
            THE INTEGRITY OF THE SAFETY CLIMB.  DURING INSTALLATION, TEMPORARY AND/OR PERMANENT
            PRECAUTIONARY MEASURES SHOULD BE TAKEN TO PRESERVE THE CLIMBING FACILITY AND/OR SAFETY CLIMB.
3.  MANUFACTURING/SPECIAL REQUIREMENTS
     3.1  FOR LOADING SEE ENGINEERING SPEC SHEET.
     3.2  FOR 5/8" DIAMETER BOLTS SHOULD BE TIGHTENED SNUG TIGHT, DEFINED AS THE CONDITION OBTAINED
            WITH A FEW IMPACTS OF AN IMPACT WRENCH OR THE FULL EFFORT OF AN IRONWORKER USING AN 
            ORDINARY SPUD WRENCH TO BRING THE CONNECTED PLIES INTO FIRM CONTACT.
     3.3  TORQUE U-BOLTS TO 44 FT-LBS, UNLESS NOTED IN FIELD OF DRAWING
4.  TEST
5.  PACKAGING
     5.1  PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT IS-PL-3005
     5.2  PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER
     5.3  EXTRA HARDWARE MAYBE SUPPLIED, BAGGED AND SHIPPED

REVISIONS
REV. ECN DESCRIPTION BY DATE

A 12161 INITIAL RELEASE RJC 4/27/2021

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 MC-RM1550-3 12" - 50" OD RINGMOUNT 1

2 MCSA24B01 24" STANDOFF WELDMENT 3

3 GB-05225 5/8" X 2-1/4" GALV BOLT KIT 12

4 GUB-4352 1/2" X 3" X 5-1/4" GALV U-BOLT 6

5 MT54696 2.875" O.D. X 96 PIPE 3

ITEM NO. PART NUMBER DESCRIPTION QTY
1 MC-RM1550-3 12"-50" OD RINGMOUNT 1
2 MC-FM3-24HK HARDWARE KIT, MC-FM3-24 1
3 PB0308K PIPE BUNDLE 1

1234

1234

A

B

C

D D

C

A

B

NOTES:

lbs/in³
lbs

in³
in²

±

506.656

BCROSS

1 OF 1WIDTH
LENGTH
HEIGHT

RJC

6429.157VOLUME 05/05/2021RE
BCROSS 05/05/2021AD

BCAMPBELLCONRW 05/05/2021
04/27/21

COMMSCOPE, INC. OF NORTH CAROLINA

RM 15-50" W/24" STANDOFF, 2-7/8 X 96 

MC-FM3-24-278

ARE00ARE00

INSL
12161PC

DENSITY
MASS

UN
LE

SS
 O

TH
ER

W
IS

E 
SP

EC
IF

IE
D

DI
ME

NS
IO

NS
 A

RE
 IN

 IN
CH

ES
IN

TE
RP

RE
T 

PE
R 

AN
SI

 Y
 14

.5M
-1

99
4

CE

Auth Group
ECN

DRAWING SHEETMODEL

SCALE

SIZE

ANGLES
.X ±

.XX ±
.XXX ±

MATERIAL

0.1
0.03

0.010
0.5°

SEE BOM

C

3 PLACE
2 PLACE
1 PLACE

REVISION

TOLERANCES

STATUSVERSION REVISIONSTATUSVERSION

DOCUMENT NO.

1:15

GALV A123
FINISH

SURFACE AREA 31675.875

TITLENAME DATE

SAP MATERIAL MASTER

MC-FM3-24-278

C 2021 CommScope, Inc. Confidential


	Sheet1
	Drawing View14
	Drawing View11
	Detail View A (1 : 6)
	Drawing View13


